
       

27

2.0 RIDUTTORI EPICICLOIDALI
SERIE EP

PLAN E TARY GEAR BOXES EP
SE RIES

PLANETENGETRIEBE SERIE
EP

2.1 Caratteristiche Char ac ter is tics Merk male 28

2.2 Designazione Des ig na tion Bezeichnung 29

2.3 Selezione Se lec tion Getriebeauswahl 29

2.4 Gioco angolare Back lash Spiel 29

2.5 Carichi radiali e assiali 
su albero lento

Ra dial and ax ial loads on
out put shaft

Ra dial-und Axiallasten an
der Ausgangswelle

30

2.6 Lubrificazione Lubrication Schmierung 30

2.7 Momento d'inerzia Mo ment of inertia Traegheitsmoment  31

2.8 Dati tecnici Tech ni cal data Technische daten 34

2.9 Dimensioni Dimensions Abmessungen 34

2.10 Istruzioni per il montaggio del motore In struc tions for as sem bly of motor Anleitung für Motormontage 44

EP



282828

2.1   Caratteristiche 2.1   Merk male2.1   Char ac ter is tics

The plan e tary gear box EP se ries is the
re sult of the out stand ing ra tio com pet i -
tive price / pre ci sion guar an teed with
re gard to op er at ing fea tures.
Our gear boxes are man u fac tured for
pre vail ing uti li za tion in the fol low ing ap -
pli ca tions:

• Machine tools

• Ma chines for woodworking

• Trans fer ma chines

• Print ing ma chines

• Au to matic ma chines for pack ag ing

• Au to ma tion

• Me chan i cal hands

• Silk-screen pro cess ma chines

• Lin ear guides

The EP se ries is avail able in 5 sizes
(55, 75, 90, 120 and 155), with 1 or 2
re duc tion stages, with two types of out -
put shaft (A and T) and three types of
out put flange (A, T and Q).

Gehäuse: aus Spezial-Nitrierstahl.
Garantiert Robustheit und dauerhaft
hohe Zuverlässigkeit.

Ein-u. Ausgangsflansche: aus Alu -
minium, in zahlreichen Varianten
lieferbar.

Wellen: aus vergütetem Legierungs-
stahl.

Zahnräder:aus Einsatzstahl mit ge-
schlif fe nen Zahnflanken.

La ger: sind hochwertig und
zweckmäßig bemessen, um eine
lange Lebensdauer und einen
geräuscharmen Lauf zu garantieren.

Housing: made of special nitrided
steel to assure strength, high reliability
and long life.

Flanges: input and output flanges
made of aluminium and available in
several versions.

Shafts: made of hardened and
tempered alloy steel.

Gears: made of casehardened and
tempered alloy steel, with ground
toothing.

Bearings: high quality and suitably
sized to assure long life and noiseless
working.

Cor po: co stru i to in ac cia io, ga ran ti sce
ro bu stez za e una ele va ta af fi da bi li tà
nel tem po.

Flan ge: le flan ge in en tra ta ed in usci ta
sono co stru i te in al lu mi nio e sono di -
spo ni bi li in mol te pli ci va rian ti co strut ti -
ve. 

Albe ri: sono co stru i ti in ac cia io le ga to
bo ni fi ca to.

Ingra nag gi: in ac cia io le ga to da ce -
men ta zio ne e tem pra, con den ta tu re
ret ti fi ca te.

Cu sci net ti: di ele va ta qua li tà op por tu na -
men te di men sio na ti per ga ran ti re ele va te
du ra te e si len zio si tà di fun zio na men to.

Die EP Serie von Planetengetrieben ist 
das Ergebnis des hervorragenden
Verhältnis  guten Preis / garantierte
Präzision der Betriebseigenschaften.
Unsere Getriebe sind für
überwiegende Verwendung in der
folgenden Applikationen hergestellt:

• Wer kze ug ma schi nen

• Holzbearbeitungsmaschinen

• Transfermaschinen

• Druckmaschinen

• Automatische Verpackungsmaschinen

• Au to ma tion

• Manipulatoren

• Siebdruckmaschinen

• Linearführungen

Die EP Serie ist in 5 Größen (55, 75,
90, 120 und 155) mit 1 oder 2
Untersetzungsstufen, mit zwei Typen
von Abtriebswellen (A und T) und drei
Typen von Abtriebsflanschen (A, T und 
Q) verfügbar.

La se rie di ri dut to ri epi ci clo i da li EP è il
ri sul ta to di un ot ti mo rap por to tra eco -
no mi ci tà del prez zo e ga ran zia di pre ci -
sio ne del le ca rat te ri sti che di fun zio na-
men to.
I no stri ri dut to ri sono sta ti re a liz za ti per
un uti liz zo pre va len te sul le se guen ti
ap pli ca zio ni:

• Macchine utensili

• Macchine per la lavorazione del legno

• Linee transfer

• Macchine da stampa

• Macchine automatiche per confe- 
zionamento ed imballaggio

• Automazioni

• Manipolatori

• Macchine serigrafiche

• Guide lineari

La gam ma dei ri dut to ri è co sti tu i ta da 5
gran dez ze (55, 75, 90, 120 e 155), a 1
e 2 sta di di ri du zio ne, ognu na con due
tipi di al be ri usci ta (tipo A e tipo T) e
flan ge usci ta di tipo A, T e Q.

EP



29

 EP 55 2 C 100 A  A AE..  P..

55
75
90
120
155

1
2

C 3 -  100 A
T

A
T
Q

Vedi tabelle
See tables
Siehe Tab.

Vedi tabelle
See tables
Siehe Tab.

 
e l

a
 d i

ol
 ci

 ci
p

e 
e r

o tt
u

 di
R

x
o

 br
 a

e
g 

yr
a t

e
 n

al
P

 
e

 b
eir t

e
 g

n
e t

e
 n

al
P

 
a

 z
z

e
 d

n
ar

G
ezi

S
 

e
 ß

ör
G

e l
ai

 s
s

 a
o

C
l

ai
 x

 a
o

C
l

ai x
 a

o
K

 i
 d

at
s i

d 
o r

e
 m

u
N

s
p

et
S

n
e f

ut
s

s
g

n
u

 zt
e

 sr
et

n
U

e
 n

oi
 z

u
 dir i

d 
o tr

o
 p

p
a

R
oi t

a
R

si
ntl

ä
hr

ev
s

g
n

u
 zt

e
 sr

et
n

U

. 
a ti

c
s

u 
o r

e
bl

A
tf

a
h

s t
u

 p
u

O
e ll

e
w

 s
b

eirt
b

A r
e

 s
s

e
m

h
cr

u
D

a ti
c

s
u 

ai
 g

n
al

F
e

 g
n

alf t
u

 pt
u

O
h

c
s

n
alf

s
g

n
a

g
 s

u
A

a t
ar t

n
e 

o r
e

bl
A

tf
a

h
s t

u
p

nI
e ll

e
w

s
g

n
a

 g
ni

E r
e

 s
s

e
m

h
cr

u
D

a t
ar t

n
e 

ni 
ai

 g
n

al
F

e
 g

n
alf t

u
p

nI E
h

c
s

n
alf

s
g

n
a

 g
ni

2.3   Selection

The se lec tion of plan e tary gear boxes EP
se ries has to be made af ter the check ing of 
ser vice fac tor. For in ter mit tent or con tin u -
ous duty it is nec es sary to ap ply the fol low -
ing for mu las:
1) In ter mit tent duty:

Tm * i * RD * fc £ T2N

2) Continuos duty:
Tm * i * RD * fc / 0.65 £ T2N

where:
Tm = nominal torque of motor (Nm)
i     = transmission ratio of gearbox
RD  = dynamic efficiency
fc   = cycle factor (see table)

For ap pli ca tion with op er a tion cy cles
based on fre quent ac cel er a tions it is nec -
es sary to ver ify that max ac cel er a tion
torque is equal or in fe rior to the T2A value
shown in the ta bles.

Cicli/ora - cycle/h - Zyklen/h £1000 1000/2000 2000/3000

fc 1 1.2/1.5 1.5/2

2.3   Getriebeauswahl

Bei der Auswahl der Planetengetriebe EP
muß berücksichtigt werden, ob diese im
Aussetzbetrieb oder im Dauerbetrieb
eingesetzt werden:

1) Aussetzbetrieb:
 Tm * i * RD * fc £ T2N

2) Dauerbetrieb:
           Tm * i * RD * fc / 0.65 £ T2N

wobei:
Tm= Nennmoment des Motors (Nm)
I    = Untersetzungsverhältnis
RD = Dynamischer Wirkungsgrad
fc   = Zyklusfaktor (s. Tabelle)

2.3   Selezione

La se le zio ne dei ri dut to ri epi ci clo i da li EP
deve es se re ef fet tua ta va lu tan do se il ser -
vi zio è in ter mit ten te o con ti nuo ve ri fi can do
le seguenti relazioni.

1) Per servizio intermittente: 
Tm * i * RD * fc £ T2N

2) Per servizio continuo: 
Tm * i * RD * fc / 0.65 £ T2N

dove:
Tm = coppia nominale del motore (Nm)
i     = rapporto di trasmissione del riduttore
RD = rendimento dinamico
fc  = fattore ciclo (vedi tabella)

Bei Anwen dun gen mit häu fi gen Beschle u -
ni gun gen muß si cher ge stellt wer den, daß
das ma xi ma le Beschle u ni gungsmo ment
nicht hö her ist als die in der Ta bel le auf -
geführten Wer te T2A.

Nel le ap pli ca zio ni dove sono pre vi sti ci cli di 
fun zio na men to ca rat te riz za ti da fre quen ti
ac ce le ra zio ni è ne ces sa rio ve ri fi ca re che
la cop pia mas si ma di ac ce le ra zio ne sia
ugua le o in fe rio re al va lo re di T2A  indicato
nelle tabelle.

2.4   Gioco angolare (a max) 2.4   Backlash (a max) 2.4   Spiel (a max)

2.2   Designation 2.2   Bezeichnung2.2   Designazione

Max. back lash mea sured on out put shaft 
by torque equals to 2% of the nom i nal
torque  value with in put shaft blocked.

Maximales Spiel [arcmin], gemessen an
der Abtriebswelle bei blockierter
Eingangswelle mit 2% des Nennmoments.

Gio co mas si mo [ar cmin] mi su ra to sul l’al be -
ro usci ta, con al be ro en tra ta bloc ca to ap pli -
can do una cop pia pari al 2% del la cop pia
no mi na le.

EP



303030

EP 55 EP 75 EP 90 EP 120 EP 155

a 27 46 56 77 95

b 18 32 39 52 64

2.5   Carichi radiali e assiali su
       albero lento

Nel la ta bel la del le pre sta zio ni sono in di ca ti
i va lo ri, espres si in N, dei ca ri chi as sia li e
ra dia li am mis si bi li alle di ver se ve lo ci tà per
una du ra ta dei cu sci net ti di 20.000 ore. Il
ca ri co ra dia le FR2 si con si de ra ap pli ca to ad
una di stan za dal la bat tu ta pari alla metà
del la lun ghez za del l’al be ro len to. Per di -
stan ze y di ver se, è pos si bi le cal co la re il
nu o vo ca ri co mas si mo am mis si bi le FR2Y

utilizzando formula e coefficienti indicati
nella tabella.

2.5   Ra dial and ax ial load on
        out put shaft

The ta ble of per for mances shows ad mis si -
ble ax ial and ra dial load val ues ex pressed
in N for dif fer ent speeds and for a bear ing
life of 20.000 hours.Ra dial load FR2 cal cu -
la tions have been based on loads ap plied
to the cen ter line of the out put shaft ex ten -
sion. For dif fer ent y dis tance it is pos si ble
to cal cu late the new max i mum ad mis si ble
load by us ing for mula and co ef fi cient
shown in the ta ble.

2.5   Ra di al-und Axi al las ten an
       der Aus gangs wel le

Die Leistungstabelle enthält die in N
ausgedrückten Werte der Ax ial- und
Radiallasten für verschiedene Umdre-
hungszahlen. Diesen Werten liegt eine
Lebensdauer der La ger von 20.000
Stunden zugrunde. Die Radiallast FR2

greift hierbei auf der Mitte der
Abtriebswelle an. Greift die Radiallast an
einem anderen Punkt der Abtriebswelle
an, so kann man die zulässige Radiallast
mit der folgenden Formel sowie den
dazugehörigen Koeffizienten berechnen:

2.6   Lubrificazione

I ri dut to ri EP sono for ni ti com ple ti di lu bri fi -
can te a vita per tan to non ne ces si ta no di
ma nu ten zio ne. In fase di or di ne spe ci fi ca re 
la posizione di montaggio.

2.6   Lubrication

EP gear boxes are sup plied filled with
long-life lu bri cant and do not re quire any
main te nance. When or der ing it is im por -
tant to spec ify the ex act mount ing po si -
tion.

2.6   Schmierung

Die Planetengetriebe EP werden inklusive
Dauerschmierung geliefert und sind
wartungsfrei. Bei der Bestellung bitte die
Einbauposition angeben.

i Rap por to di ri du zio ne nominale No mi nal ra tio Nenn-Unter set zungsverhältnis 

n1 nom Ve lo ci tà no mi na le in en tra ta [min-1] No mi nal in put spe ed [min-1] Nenn- E in gangsdrehzahl [min-1]

n1 max Ve lo ci tà mas si ma in en tra ta [min-1] Ma xi mum in put spe ed [min-1] Maximale Ein gangsdrehzahl [min-1]

T2N Cop pia no mi na le in ter mit ten te in usci ta [Nm] Inter mit tent out put tor que [Nm] Nenn-Abtrieb smo ment (im Aus set zbe trieb)[Nm]

T2A Cop pia mas si ma di ac ce le ra zio ne in usci ta [Nm] Ma xi mum ac ce le ra tion out put tor que [Nm] Ma xi ma les Beschle u ni gungsmo ment  [Nm]

T2S Cop pia mas si ma di emer gen za in usci ta [Nm] Ma xi mum emer gency out put tor que [Nm] Ma xi ma le Über last  [Nm]

LpA Li vel lo di ru mo ro si tà dB(A) a 3000 min-1 No i se le vel dB(A) at 3000 min-1 Ger äuschpe gel dB(A) bei 3000 min-1

Rd Ren di men to di na mi co Dyna mic ef fi ciency Dynamischer Wirkungsgrad

Lh Du ra ta cu sci net ti [h] Be a ring life  [h] Lebensdauer der La ger [h]

FR2 Ca ri co ra dia le no mi na le in usci ta [N] a 100 min-1 Out put ra dial load  [N] at 100  min-1 Nenn-Ra dial last an der Abtrieb swel le bei 100 min-1

FA2 Ca ri co as sia le in usci ta [N] a 100 min-1 Out put axial load  [N] at 100  min-1 Axiallast an der Abtriebswelle bei 100 min-1

Rt Ri gi di tà tor sio na le [Nm / ar cmin] Tor sio nal ri gi dity  [Nm / ar cmin] Dreh fe stig ke it  [Nm / ar cmin]

amax Gio co an go la re stan dard [ar cmin] Stan dard bac klash [ar cmin] Stan dard Spiel [ar cmin]

Jmin Mo men to d'i ner zia minimo [kg.cm2] Min. moment of iner tia [kg.cm2] Tra eg she it smo ment min. [kg.cm2]

Jmax Mo men to d'i ner zia massimo[kg.cm2] Max. moment of iner tia [kg.cm2] Tra eg she it smo ment max. [kg.cm2]

Symbols and unit of measure Abkürzungen und MaßeinheitenSimbologia e unità di misura

EP



31

EP 55
Albero entrata / Input shaft / Antriebswelle

Stadi
Steps

Stufenzahl
i 6 6.35 7 8 9 9.525 11

1

3 0.07 0.07 0.07 0.09 0.09 0.09 0.09

4 0.06 0.06 0.06 0.08 0.08 0.08 0.08

5 0.06 0.06 0.06 0.07 0.07 0.07 0.08

7 0.06 0.06 0.06 0.07 0.07 0.07 0.07

10 0.05 0.05 0.05 0.07 0.07 0.07 0.07

2

9 0.07 0.07 0.07 0.09 0.09 0.09 0.09

12 0.07 0.07 0.07 0.09 0.09 0.09 0.09

15 0.07 0.07 0.07 0.09 0.09 0.09 0.09

16 0.06 0.06 0.06 0.08 0.08 0.08 0.08

20 0.06 0.06 0.06 0.08 0.08 0.07 0.08

25 0.06 0.06 0.06 0.07 0.07 0.07 0.08

28 0.06 0.06 0.06 0.07 0.07 0.07 0.07

35 0.06 0.06 0.06 0.07 0.07 0.07 0.07

40 0.05 0.05 0.05 0.07 0.07 0.07 0.07

50 0.05 0.05 0.05 0.07 0.07 0.07 0.07

70 0.05 0.05 0.05 0.07 0.07 0.07 0.07

100 0.05 0.05 0.05 0.07 0.07 0.07 0.07

2.7   Mo men to d'i ner zia J 
       [kg.cm2] 

2.7   Moment of iner tia J 
       [kg.cm2] 

2.7   Tra eg he it smo ment  J 
       [kg.cm2] 

EP 75
Albero entrata / Input shaft / Antriebswelle

Stadi
Steps

Stufenzahl
i 6 6.35 7 8 9 9.525 11 12 12.7 14

1

3 0.17 0.17 0.17 0.18 0.18 0.18 0.20 0.20 0.20 0.22

4 0.12 0.12 0.12 0.13 0.13 0.13 0.14 0.15 0.14 0.16

5 0.11 0.11 0.11 0.12 0.12 0.12 0.13 0.14 0.13 0.15

7 0.09 0.09 0.09 0.11 0.11 0.11 0.12 0.12 0.12 0.14

10 0.09 0.09 0.09 0.10 0.10 0.10 0.11 0.12 0.11 0.13

2

9 0.16 0.16 0.16 0.17 0.17 0.17 0.19 0.19 0.19 0.21

12 0.16 0.16 0.16 0.17 0.17 0.17 0.18 0.18 0.18 0.20

15 0.15 0.15 0.15 0.17 0.17 0.17 0.18 0.18 0.18 0.20

16 0.12 0.12 0.12 0.13 0.13 0.13 0.14 0.15 0.14 0.16

20 0.12 0.12 0.12 0.13 0.13 0.13 0.14 0.14 0.14 0.16

25 0.10 0.10 0.10 0.12 0.12 0.12 0.13 0.13 0.13 0.15

28 0.09 0.09 0.09 0.11 0.11 0.11 0.12 0.12 0.12 0.14

35 0.09 0.09 0.09 0.11 0.11 0.11 0.12 0.12 0.12 0.14

40 0.09 0.09 0.09 0.10 0.10 0.10 0.11 0.12 0.11 0.13

50 0.09 0.09 0.09 0.10 0.10 0.10 0.11 0.12 0.11 0.13

70 0.09 0.09 0.09 0.10 0.10 0.10 0.11 0.12 0.11 0.13

100 0.09 0.09 0.09 0.10 0.10 0.10 0.11 0.12 0.11 0.13

I valori dei momenti d'inerzia riportati si
riferiscono all'albero entrata.

The moment of inertia values refer to the
input shaft.

Die Werte der Trägheitsmoment beziehen
sich auf die Antriebswelle.

EP



323232

I valori dei momenti d'inerzia riportati si
riferiscono all'albero entrata.

The moment of inertia values refer to the
input shaft.

Die Werte der Trägheitsmoment beziehen
sich auf die Antriebswelle.

2.7   Mo men to d'i ner zia J 
       [kg.cm2] 

2.7   Moment of iner tia J 
       [kg.cm2] 

2.7   Tra eg he it smo ment  J 
       [kg.cm2] 

EP 90
Albero entrata / Input shaft / Antriebswelle

Stadi
Steps

Stufenzahl
i 9 9.525 11 12 12.7 14 15.87 16 19

1

3 0.53 0.53 0.54 0.54 0.54 0.56 0.76 0.76 0.73

4 0.35 0.35 0.36 0.36 0.36 0.38 0.58 0.58 0.55

5 0.29 0.29 0.30 0.30 0.30 0.32 0.52 0.52 0.49

7 0.24 0.24 0.25 0.25 0.25 0.27 0.47 0.47 0.44

10 0.21 0.21 0.22 0.23 0.23 0.25 0.44 0.44 0.41

2

9 0.53 0.53 0.54 0.55 0.55 0.56 0.76 0.76 0.73

12 0.51 0.51 0.52 0.53 0.53 0.55 0.74 0.74 0.71

15 0.51 0.51 0.52 0.52 0.52 0.54 0.74 0.74 0.70

16 0.34 0.34 0.35 0.35 0.35 0.37 0.57 0.57 0.54

20 0.34 0.34 0.35 0.35 0.35 0.37 0.57 0.57 0.53

25 0.28 0.28 0.29 0.29 0.29 0.31 0.51 0.51 0.48

28 0.24 0.23 0.24 0.25 0.25 0.27 0.46 0.46 0.43

35 0.23 0.23 0.24 0.25 0.25 0.27 0.46 0.46 0.43

40 0.21 0.21 0.22 0.23 0.23 0.24 0.44 0.44 0.41

50 0.21 0.21 0.22 0.23 0.22 0.24 0.44 0.44 0.41

70 0.21 0.21 0.22 0.23 0.22 0.24 0.44 0.44 0.41

100 0.21 0.21 0.22 0.23 0.22 0.24 0.44 0.44 0.41

EP 120
Albero entrata / Input shaft / Antriebswelle

Stadi
Steps

Stufenzahl
i 12.7 14 15.87 16 19 22 24 28

1

3 2.02 2.08 2.25 2.25 2.22 4.36 4.32 4.17

4 1.13 1.19 1.36 1.36 1.33 3.47 3.43 3.28

5 0.86 0.91 1.08 1.08 1.05 3.19 3.15 3.01

7 0.62 0.68 0.85 0.85 0.82 2.96 2.92 2.77

10 0.51 0.56 0.73 0.73 0.70 2.84 2.80 2.66

2

9 2.00 2.06 2.23 2.23 2.20 4.34 4.30 4.15

12 1.92 1.97 2.14 2.14 2.11 4.26 4.22 4.07

15 1.88 1.93 2.10 2.10 2.07 4.22 4.18 4.03

16 1.07 1.13 1.30 1.30 1.27 3.41 3.37 3.22

20 1.05 1.10 1.28 1.28 1.24 3.39 3.35 3.20

25 0.80 0.86 1.03 1.03 0.99 3.14 3.10 2.95

28 0.61 0.66 0.83 0.83 0.80 2.94 2.90 2.76

35 0.60 0.65 0.82 0.82 0.79 2.94 2.90 2.75

40 0.50 0.55 0.72 0.72 0.69 2.83 2.79 2.65

50 0.49 0.55 0.72 0.72 0.68 2.83 2.79 2.64

70 0.49 0.54 0.71 0.71 0.68 2.83 2.79 2.64

100 0.49 0.54 0.71 0.71 0.68 2.83 2.79 2.64

EP



33

2.7   Mo men to d'i ner zia J 
       [kg.cm2] 

2.7   Moment of iner tia J 
       [kg.cm2] 

2.7   Tra eg he it smo ment  J 
       [kg.cm2] 

EP 155
Albero entrata / Input shaft / Antriebswelle

Stadi
Steps

Stufenzahl
i 15.87 16 19 22 24 28 32 35 38

1

3 6.97 6.97 7.01 8.24 8.21 12.21 14.05 13.92 13.59

4 4.45 4.45 4.48 5.72 5.68 9.69 11.53 11.40 11.07

5 3.57 3.57 3.60 4.84 4.80 8.80 10.64 10.51 10.19

7 2.86 2.86 2.89 4.13 4.09 8.09 9.93 9.81 9.48

10 2.49 2.49 2.52 3.76 3.72 7.73 9.57 9.44 9.11

2

9 6.84 6.84 6.87 8.11 8.07 12.07 13.91 13.79 13.46

12 6.55 6.55 6.59 7.83 7.79 11.79 13.63 13.51 13.18

15 6.46 6.46 6.49 7.73 7.69 11.70 13.54 13.41 13.08

16 4.22 4.22 4.25 5.49 5.45 9.45 11.29 11.17 10.84

20 4.16 4.16 4.19 5.43 5.40 9.40 11.24 11.11 10.78

25 3.38 3.38 3.41 4.65 4.62 8.62 10.46 10.33 10.00

28 2.78 2.78 2.81 4.05 4.02 8.02 9.86 9.73 9.40

35 2.76 2.76 2.80 4.03 4.00 8.00 9.84 9.71 9.38

40 2.45 2.45 2.48 3.72 3.69 7.69 9.53 9.40 9.07

50 2.44 2.44 2.48 3.71 3.68 7.68 9.52 9.39 9.06

70 2.44 2.44 2.47 3.71 3.67 7.67 9.51 9.39 9.06

100 2.43 2.43 2.46 3.70 3.67 7.67 9.51 9.38 9.05

I valori dei momenti d'inerzia riportati si
riferiscono all'albero entrata.

The moment of inertia values refer to the
input shaft.

Die Werte der Trägheitsmoment beziehen
sich auf die Antriebswelle.

EP



343434

A
E

A
E

1.5 1.5

1.5 1.5

4x4 4x4

4x4 4x4

1
2

 k
6

1
2

 k
6

A
E

A
E

1
2

 k
6

1
2

 k
6

M4x10 M4x10

M4x10 M4x10

18 18

18 18

14 14

14 14

6.5 5.5

8 8

5.5 4.5

12 12

13 13

C1 C1

C1 C1

T T

T T

S S

S S

7474

M4x8
M5x10

5.55.5

44 40

35 h7 32 h7

5555

55 55

6565

36 g636 g6

AA TT

AQ TQ

EP55

Stadi/Steps/Stufenzahl 1 2
AE=

 6 - 6.35 - 7 - 8 - 9 - 9.52 - 11
C1 62.5 81.5

T 87 106

Stadi/Steps/Stufenzahl 1 2
AE= 

6 - 6.35 - 7 - 8 - 9 - 9.52 - 11
C1 63.5 82.5

T 87 106

Stadi/Steps/Stufenzahl 1 2
AE= 

6 - 6.35 - 7 - 8 - 9 - 9.52 - 11
C1 56 75

T 87 106

Stadi/Steps/Stufenzahl 1 2
AE=

 6 - 6.35 - 7 - 8 - 9 - 9.52 - 11
C1 56 75

T 87 106

2.8 Technical data 2.8 Tecnische daten2.8 Dati tecnici

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

2.9 Dimensions 2.9 Abmessungen2.9 Dimensioni

EP 55
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 12 14 16 12 10 14 16 16 16 16 16 16 16 16 16 14 12 n1nom 4000

T2A 22 24 24 22 20 24 28 28 28 28 28 28 28 28 28 24 22 n1max 5000

T2S 44 48 48 44 40 48 56 56 56 56 56 56 56 56 56 48 44 LpA < 70

Jmin 0.07 0.06 0.06 0.06 0.05 0.07 0.07 0.07 0.06 0.06 0.06 0.06 0.06 0.05 0.05 0.05 0.05 Lh 20000

Jmax 0.09 0.08 0.08 0.07 0.07 0.09 0.09 0.09 0.08 0.08 0.08 0.07 0.07 0.07 0.07 0.07 0.07 FR2 300

Rt 1.0 0.9 1.0 0.9 FA2 450

Rd 0.96 0.93 amax 15' 20'

Kg 0.8 1.8

Dimensioni generali e uscite / General and output dimensions / General-und Abtriebsabmessungen



35

H

Lmax

A
E

 H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP55

Flangia entrata
Input flange

Antriebsflansch

* Per assemblare il  motore è necessario
smontare la flangia dal riduttore (vedere
schema di montaggio 2 a pag. 45).

* To mount the motor it is necessary to remove
the gearbox flange (see  assembly drawing 2 
on page 45).

* Vor dem Einbauen des Mo tors soll die
Getriebeflansch abmontiert werden (siehe
Bauanleitung 2 auf Sei te 45).

Flange entrata / Input flange / Antriebsflansch

Albero entrata / Input shaft / Antriebswelle

AE

6 6.35 7 8 9 9.52 11

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H

P01* 60 = = 43.82 22 4.5 10 3 22 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P02* = 60 80 66.67 38.1 5.5 10 3 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P03* = 60 80 63 40 5.5 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P04 = 70 90 75 60 6.5 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P05 105 = = 85 70 6.5 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P06 = 80 110 98.42 73.02 6 11 3.5 35 31 8 31 8 31 8 31 8 31 8 31 8 31 8

P07 = 95 120 100 80 6.5 11.5 4 32 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5

P08 = 98 130 115 95 9 11.5 4 32 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5 31.5 8.5

P09 = 116 160 130 110 9 12 4.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P10* 60 = = 39 26 4.5 10 3 26 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P11* 60 = = 42 32 4.5 10 3 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P12* 65 = = 46 32 4.5 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P13* 80 = = 65 50 5.5 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P14* 60 = = 39 20 4.5 10 2.5 20 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P15 = 75 100 90 60 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P16* 60 = = 45 30 3.5 14 7 30 34 11 34 11 34 11 34 11 34 11 34 11 34 11

P17 = 60 82 70 50 4.5 16.5 8 32 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5 36.5 13.5

P18 = 60 80 60 50 M4 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P19* 60 = = 36 25 4.5 10 3 25 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P20 = 60 82 70 50 5.5 10.5 3.5 32 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5 30.5 7.5

P21* 60 = = 46 30 4.5 10 3 30 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P22 = 60 80 70.71 36 4.5 10 2 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P23 = 62 85 70 50 5.5 15.5 3.5 32 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5 35.5 12.5

P24 = 75 100 90 70 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P25 = 70 95 85 55 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P26* = 60 80 65.5 34 5.5 10 3.5 33 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P27 = 80 110 95 50 6.5 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P28 = 60 80 66.67 38.1 M4 9 2.5 32 29 6 29 6 29 6 29 6 29 6 29 6 29 6

P29 60 = = 45 30 M3 11 4 32 31 8 31 8 31 8 31 8 31 8 31 8 31 8

P30 = 70 95 85 60 5.8 12 3.5 32 32 9 32 9 32 9 32 9 32 9 32 9 32 9

P31 = 62 85 70 50 M4 11 3.5 32 31 8 31 8 31 8 31 8 31 8 31 8 31 8

P32 = 60 80 65 40 M5 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P33 = 85 115 99 60 5.5 11 3.5 35 31 8 31 8 31 8 31 8 31 8 31 8 31 8

P34 = 65 87 73.54 40 M4 10 3.5 32 30 7 30 7 30 7 30 7 30 7 30 7 30 7

P35 = 60 80 70.71 36 M4 14 2 32 34 11 34 11 34 11 34 11 34 11 34 11 34 11

P36 = 85 115 98.42 73.02 6 15 3.5 35 35 12 35 12 35 12 35 12 35 12 35 12 35 12

Dimensioni entrate / Input dimensions / Antriebsabmessungen



363636

EP 75
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 22 28 32 28 20 26 32 36 36 36 36 36 36 36 36 30 22 n1nom 4000

T2A 40 45 50 45 40 50 60 60 60 60 60 60 60 60 60 50 45 n1max 5000

T2S 80 90 100 90 80 100 120 120 120 120 120 120 120 120 120 100 90 LpA < 70

Jmin 0.17 0.12 0.11 0.09 0.09 0.16 0.16 0.15 0.12 0.12 0.10 0.09 0.09 0.09 0.09 0.09 0.09 Lh 20000

Jmax 0.22 0.16 0.15 0.14 0.13 0.21 0.20 0.20 0.16 0.16 0.15 0.14 0.14 0.13 0.13 0.13 0.13 FR2 1800

Rt 3.5 3.0 3.5 3.0 FA2 1400

Rd 0.96 0.93 amax 15' 20'

Kg 1.4 2.0

EP75

A
E

A
E

1.5 1.5

1.5 1.5

5x5 5x5

5x5 5x5

1
6

 k
6

1
4

 k
6

A
E

A
E

1
6

 k
6

1
4

 k
6

M5x12 M5x12

M5x12 M5x12

28 28

28 28

25 25

25 25

8 6.5

10 10

5.5 4

16 16

18 18

C1 C1

C1 C1

T T

T T

S S

S S

9797

M5x10

5.55.5

62 52

52 h7 40 h7

7272

72 72

8585

52 g652 g6

M5x10

AA TT

AQ TQ

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14
C1 78.5 101

T 114.5 137

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14
C1 80 102.5

T 114.5 137

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14
C1 68.5 91

T 114.5 137

Stadi/Steps/Stufenzahl 1 2
AE=

6-6.35-7-8-9-9.52-11-12-12.7-14
C1 68.5 91

T 114.5 137

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

2.8 Technical data 2.8 Tecnische daten2.8 Dati tecnici

2.9 Dimensions 2.9 Abmessungen2.9 Dimensioni

Dimensioni generali e uscite / General and output dimensions / General-und Abtriebsabmessungen



37

H

Lmax

A
E

 H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP75

Flangia entrata
Input flange

Antriebsflansch

Flange entrata / Input flange / Antriebsflansch

Albero entrata / Input shaft / Antriebswelle

AE

6 6.35 7 8 9 9.52 11 12 12.7 14

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H

P01* 60 = = 43.82 22 4.5 10 3 22 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P02* = 60 80 66.67 38.1 5.5 10 3 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P03* = 60 80 63 40 5.5 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P04 = 70 90 75 60 6.5 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P05 105 = = 85 70 6.5 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P06 = 80 110 98.42 73.02 6 11 3.5 35 36 5.5 36 5.5 36 5.5 27 7.5 27 7.5 36 7.5 27 7.5 36 7.5 36 7.5 36 7.5

P07 = 95 120 100 80 6.5 11.5 4 32 36.5 6 36.5 6 36.5 6 27.5 8 27.5 8 36.5 8 27.5 8 36.5 8 36.5 8 36.5 8

P08 = 98 130 115 95 9 11.5 4 32 36.5 6 36.5 6 36.5 6 27.5 8 27.5 8 36.5 8 27.5 8 36.5 8 36.5 8 36.5 8

P09 = 116 160 130 110 9 12 4.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P10* 60 = = 39 26 4.5 10 3 26 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P11* 60 = = 42 32 4.5 10 3 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P12* 65 = = 46 32 4.5 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P13* 80 = = 65 50 5.5 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P14* 60 = = 39 20 4.5 10 2.5 20 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P15 = 75 100 90 60 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P16* 60 = = 45 30 3.5 14 7 30 39 8.5 39 8.5 39 8.5 30 10.5 30 10.5 39 10.5 30 10.5 39 10.5 39 10.5 39 10.5

P17 = 60 82 70 50 4.5 16.5 8 32 41.5 11 41.5 11 41.5 11 32.5 13 32.5 13 41.5 13 32.5 13 41.5 13 41.5 13 41.5 13

P18 = 60 80 60 50 M4 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P19* 60 = = 36 25 4.5 10 3 25 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P20 = 60 82 70 50 5.5 10.5 3.5 32 35.5 5 35.5 5 35.5 5 26.5 7 26.5 7 35.5 7 26.5 7 35.5 7 35.5 7 35.5 7

P21* 60 = = 46 30 4.5 10 3 30 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P22 = 60 80 70.71 36 4.5 10 2 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P23 = 62 85 70 50 5.5 15.5 3.5 32 40.5 10 40.5 10 40.5 10 31.5 12 31.5 12 40.5 12 31.5 12 40.5 12 40.5 12 40.5 12

P24 = 75 100 90 70 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P25 = 70 95 85 55 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P26* = 60 80 65.5 34 5.5 10 3.5 33 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P27 = 80 110 95 50 6.5 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P28 = 60 80 66.67 38.1 M4 9 2.5 32 34 3.5 34 3.5 34 3.5 25 5.5 25 5.5 34 5.5 25 5.5 34 5.5 34 5.5 34 5.5

P29 60 = = 45 30 M3 11 4 32 36 5.5 36 5.5 36 5.5 27 7.5 27 7.5 36 7.5 27 7.5 36 7.5 36 7.5 36 7.5

P30 = 70 95 85 60 5.8 12 3.5 32 37 6.5 37 6.5 37 6.5 28 8.5 28 8.5 37 8.5 28 8.5 37 8.5 37 8.5 37 8.5

P31 = 62 85 70 50 M4 11 3.5 32 36 5.5 36 5.5 36 5.5 27 7.5 27 7.5 36 7.5 27 7.5 36 7.5 36 7.5 36 7.5

P32 = 60 80 65 40 M5 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P33 = 85 115 99 60 5.5 11 3.5 32 36 5.5 36 5.5 36 5.5 27 7.5 27 7.5 36 7.5 27 7.5 36 7.5 36 7.5 36 7.5

P34 = 65 87 73.54 40 M4 10 3.5 32 35 4.5 35 4.5 35 4.5 26 6.5 26 6.5 35 6.5 26 6.5 35 6.5 35 6.5 35 6.5

P35 = 60 80 70.71 36 M4 14 2 32 39 8.5 39 8.5 39 8.5 30 10.5 30 10.5 39 10.5 30 10.5 39 10.5 39 10.5 39 10.5

P36 = 85 115 98.42 73.02 6 15 3.5 35 40 9.5 40 9.5 40 9.5 35 11.5 31 11.5 40 11.5 35 11.5 40 11.5 40 11.5 40 11.5

* Per assemblare il  motore è necessario
smontare la flangia dal riduttore (vedere
schema di montaggio 2 a pag. 45).

* To mount the motor it is necessary to remove
the gearbox flange (see  assembly drawing 2 
on page 45).

* Vor dem Einbauen des Mo tors soll die
Getriebeflansch abmontiert werden (siehe
Bauanleitung 2 auf Sei te 45).

Dimensioni entrate / Input dimensions / Antriebsabmessungen



383838

EP 90
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 50 55 60 55 50 65 70 75 75 75 75 75 75 75 75 65 55 n1nom 4000

T2A 80 90 100 90 80 100 110 120 120 120 120 120 120 120 120 100 90 n1max 5000

T2S 160 180 200 180 160 200 220 240 240 240 240 240 240 240 240 200 180 LpA < 70

Jmin 0.53 0.35 0.29 0.24 0.21 0.53 0.51 0.51 0.34 0.34 0.28 0.23 0.23 0.21 0.21 0.21 0.21 Lh 20000

Jmax 0.73 0.55 0.49 0.44 0.41 0.73 0.71 0.70 0.54 0.53 0.48 0.43 0.43 0.41 0.41 0.41 0.41 FR2 2600

Rt 9.0 7.5 9.0 7.5 FA2 2000

Rd 0.96 0.93 amax 15' 20'

Kg 2.8 3.7

EP90

A
E

A
E

3 3

3 3

6x6 6x6

6x6 6x6

2
2

 k
6

1
9

 k
6

A
E

A
E

2
2

 k
6

1
9

 k
6

M8x16 M6x16

M8x16 M6x16

36 36

36 36

30 30

30 30

10 7

12 12

7.5 4.5

18 18

20 20

C1 C1

C1 C1

T T

T T

S S

S S

120
120

M6x12

77

80

68 h7

9090

90

105105

65 g665 g6

65

50 h7

90

M6x12

AA TT

AQ TQ

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19
C1 98 127

T 144 173

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19
C1 101 130

T 144 173

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19
C1 88 117

T 144 173

Stadi/Steps/Stufenzahl 1 2
AE=

9-9.52-11-12-12.7-14-15.87-16-19
C1 88 117

T 144 173

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

2.8 Technical data 2.8 Tecnische daten2.8 Dati tecnici

2.9 Dimensions 2.9 Abmessungen2.9 Dimensioni

Dimensioni generali e uscite / General and output dimensions / General-und Abtriebsabmessungen



39

Flange entrata / Input flange / Antriebsflansch

Albero entrata - Input shaft - Antriebswelle

AE

9 9.525 11 12 12.7 14 15.87 16 19

F Q V I R
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H L

max H

P01* 80 = = 66.67 38.1 5.5 12 3 38.1 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P02 = 106.5 140 125.72 55.52 7 11 3 45 43 5.5 43 8 28 8 43 8 43 8 43 8 43 8 43 8 43 8

P03* = 80 90 75 60 5.5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P04* 105 = = 85 70 6.5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P05 = 82.5 110 98.425 73.02 6.5 12 3 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P06 = 90 120 100 80 6.5 13 4 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P07 = 100 135 115 95 8.5 13 4.5 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P08 = 116 160 130 110 9 13 4.5 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P09* 80 = = 39 26 4.5 12 4 26 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P10* 80 = = 65 50 5.5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P11 = 150 182 166 115 9 32 11 50x14 64 26.5 64 29 49 29 64 29 64 29 64 29 64 29 64 29 64 29

P12* = 80 105 90 70 6.5 12 3.5 32 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P14* 105 = = 90 70 6 19 9 32 51 13.5 51 16 36 16 51 16 51 16 51 16 51 16 51 16 51 16

P15* 80 = = 70 50 4.5 17 8 45 49 11.5 49 14 34 14 49 14 49 14 49 14 49 14 49 14 49 14

P16 = 142 190 165 130 11 13 4.5 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P17* 80 = = 63 40 5.5 12 3.5 40 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P18 = 130 170 145 110 M8 31 7 32 63 25.5 63 28 48 28 63 28 63 28 63 28 63 28 63 28 63 28

P19* = 80 105 90 60 6.5 12 3.5 32 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P20* = 80 105 85 55 5.5 12 3.5 36 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P21 = 80 110 95 50 M6 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P22 80 = = 70 50 M4 12 4 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P23 = 80 90 75 60 M5 12 3.5 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P24 80 = = 46 30 M4 12 4 30 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P26 80 = = 65 40 M5 12 3.5 40 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P27 = 80 105 82.02 36.8 M6 14 10 36.8 46 8.5 46 11 31 11 46 11 46 11 46 11 46 11 46 11 46 11

P28 = 90 120 100 80 6.5 28 4 45 60 22.5 60 25 45 25 60 25 60 25 60 25 60 25 60 25 60 25

P29* 80 = = 66.67 50 5.5 12 3 45 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P30 = 115 155 130 80 9 13 4 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P31* = 80 105 56 44 M6 14 10 36.8 46 8.5 46 11 31 11 46 11 46 11 46 11 46 11 46 11 46 11

P32 = 80 105 90 70 M6 12 3.5 32 44 6.5 44 9 29 9 44 9 44 9 44 9 44 9 44 9 44 9

P33 = 130 165 145 110 9 13 4.5 45 45 7.5 45 10 30 10 45 10 45 10 45 10 45 10 45 10 45 10

P34 = 90 120 100 80 M6 19 5 45 51 13.5 51 16 36 16 51 16 51 16 51 16 51 16 51 16 51 16

H

Lmax

A
E

 H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP90

Flangia entrata
Input flange

Antriebsflansch

* Per assemblare il  motore è necessario
smontare la flangia dal riduttore (vedere
schema di montaggio 2 a pag. 45).

* To mount the motor it is necessary to remove
the gearbox flange (see  assembly drawing 2 
on page 45).

* Vor dem Einbauen des Mo tors soll die
Getriebeflansch abmontiert werden (siehe
Bauanleitung 2 auf Sei te 45).

Dimensioni entrate / Input dimensions / Antriebsabmessungen



404040

EP 120
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 120 150 180 150 100 150 180 220 220 220 220 220 220 220 220 170 110 n1nom 3000

T2A 190 240 290 220 180 240 290 350 350 350 350 350 350 350 350 270 200 n1max 4000

T2S 400 500 600 460 380 500 600 700 700 700 700 700 700 700 700 540 400 LpA < 70

Jmin 2.02 1.13 0.86 0.62 0.50 2.00 1.92 1.88 1.07 1.05 0.80 0.60 0.60 0.50 0.49 0.49 0.49 Lh 20000

Jmax 4.17 3.28 3.01 2.77 2.65 4.15 4.07 4.03 3.22 3.20 2.95 2.75 2.75 2.65 2.64 2.64 2.64 FR2 4500

Rt 32 28 32 30 28 FA2 4000

Rd 0.96 0.93 amax 15' 20'

Kg 7.5 8.0

EP120

A
E

A
E

4 2.5

4 2.5

10x8 8x7

10x8 8x7

3
2

 k
6

2
5

 k
6

A
E

A
E

3
2

 k
6

2
5

 k
6

M12x24 M10x22

M12x24 M10x22

58 50

58 50

50 45

50 45

12 7

15 15

6 5

20 20

25 25

C1 C1

C1 C1

T T

T T

S S

S S

155
155

M8x16
M8x16

99

108 85

90 h7 70 h7

115115

125 115

135135

90 g690 g6

11
5

AA TT

AQ TQ

Stadi/Steps/Stufenzahl 1 2
C1 115.8 148.4 AE=

12.7-14-15.87-16-19T 185.8 218.4

C1 134.8 167.4 AE=
22-24-28T 204.8 237.4

Stadi/Steps/Stufenzahl 1 2
C1 120.8 153.4 AE=

12.7-14-15.87-16-19T 177.8 210.4

C1 139.8 172.4 AE=
22-24-28T 196.8 229.4

Stadi/Steps/Stufenzahl 1 2
C1 102.8 135.4 AE=

12.7-14-15.87-16-19T 185.8 218.4

C1 121.8 154.4 AE=
22-24-28T 204.8 237.4

Stadi/Steps/Stufenzahl 1 2
C1 102.8 135.4 AE=

12.7-14-15.87-16-19T 177.8 210.4

C1 121.8 154.4 AE=
22-24-28T 196.8 229.4

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

2.8 Technical data 2.8 Tecnische daten2.8 Dati tecnici

2.9 Dimensions 2.9 Abmessungen2.9 Dimensioni

Dimensioni generali e uscite / General and output dimensions / General-und Abtriebsabmessungen



41

H

Lmax

A
E

 H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP120

Flange entrata / Input flange / Antriebsflansch

Albero entrata - Input shaft - Antriebswelle

AE

12.7 14 15.87 16 19 22 24 25 28

F Q V I R
 (H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H L

max H

P01* = 115 140 125.72 55.52 6.5 13 3 55.52 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P02* 115 = = 75 60 5.5 13 3.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P03* 115 = = 85 70 6.5 13 3.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P04* 115 = = 98.42 73.02 6.5 13 3 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P05* 120 = = 100 80 6.5 13 4 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P06* = 115 140 115 95 9 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P07 = 115 160 130 110 8.5 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P08 = 142 190 165 130 11 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P09 = 192 250 215 180 13 14 4.5 60 44 7 36 7 44 7 44 7 44 7 63 7 63 7 63 7 63 7

P10* 115 = = 65 50 6.5 13 3.5 50 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P11 = 130 170 145 110 M 8 31 7 60 61 24 53 24 61 24 61 24 61 24 80 24 80 24 80 24 80 24

P12 = 130 170 145 110 M 8 17 7 60 47 10 39 10 47 10 47 10 47 10 66 10 66 10 66 10 66 10

P13 = 115 160 130 110 M 8 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P14* 115 = = 70 50 6.5 13 3.5 50 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P15 115 = = 90 70 M5 11 3.5 60 41 4 33 4 41 4 41 4 41 4 60 4 60 4 60 4 60 4

P17* 115 = = 90 70 6.5 13 3.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P18 = 115 155 130 95 8.5 13 4.5 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P19* 115 = = 95 50 6.5 13 3.5 50 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P20 115 = = 99 60 M6 13 4 60 43 6 35 6 43 6 43 6 43 6 62 6 62 6 62 6 62 6

P21* 130 = = 106 82.5 12.5 26.3 15 60 56.5 19.5 48.5 19.5 56.5 19.5 56.6 19.5 56.5 19.5 75.5 19.5 75.5 19.5 75.5 19.5 75.5 19.5

Flangia entrata
Input flange

Antriebsflansch

* Per assemblare il  motore è necessario
smontare la flangia dal riduttore (vedere
schema di montaggio 2 a pag. 45).

* To mount the motor it is necessary to remove
the gearbox flange (see  assembly drawing 2 
on page 45).

* Vor dem Einbauen des Mo tors soll die
Getriebeflansch abmontiert werden (siehe
Bauanleitung 2 auf Sei te 45).

Dimensioni entrate / Input dimensions / Antriebsabmessungen



424242

EP 155
Stadi
Steps

Stufenzahl
Stadi
Steps

Stufenzahl
1 2

i 3 4 5 7 10 9 12 15 16 20 25 28 35 40 50 70 100 1 2

T2N 240 320 380 300 220 320 400 500 500 500 500 500 500 500 500 350 250 n1nom 3000

T2A 420 540 600 480 400 480 600 750 750 750 750 750 750 750 750 560 460 n1max 4000

T2S 880 1140 1260 1000 850 1000 1250 1500 1500 1500 1500 1500 1500 1500 1500 1120 920 LpA < 70

Jmin 6.97 4.45 3.57 2.86 2.49 6.84 6.55 6.46 4.22 4.16 3.38 2.78 2.76 2.45 2.44 2.44 2.43 Lh 20000

Jmax 13.59 11.07 10.19 9.48 9.11 13.46 13.18 13.08 10.84 10.78 10.00 9.40 9.38 9.07 9.06 9.06 9.05
FR2 (AA)
FR2 (TT)

6500
5300

Rt 60 50 60 50
FA2 (AA)
FA2 (TT)

3250
2650

Rd 0.96 0.93 amax 15' 20'

Kg 10.9 15.7

EP155

A
E

5 2.5

6

12x8 10x8

12x8

4
0

 k
6

3
2

 k
6

A
E

1
4

0

A
E

4
0

 k
6

M16x36 M12x28

M16x36

80 55

80

70 50

70

15 15

23.5

8 8

23

30

C1 C1

C1

T T

T

S S

S

188

M10x20
M12x20

11

140 110

120 h7 80 h7

140

160 140

165

105 g6

AA TT

AQ

Stadi/Steps/Stufenzahl 1 2
C1 156 197.5 AE=

15.87-16-19-22-24T 251 292.5

C1 181 222.5 AE=
28-32-35-38T 276 317.5

Stadi/Steps/Stufenzahl 1 2
C1 156 197.5 AE=

15.87-16-19-22-24T 226 267.5

C1 181 222.5 AE=
28-32-35-38T 251 292.5

Stadi/Steps/Stufenzahl 1 2
C1 141 182.5 AE=

15.87-16-19-22-24T 251 292.5

C1 166 207.5 AE=
28-32-35-38T 276 317.5

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

Flangia uscita
Output flange

Abtriebsflansch

2.8 Technical data 2.8 Tecnische daten2.8 Dati tecnici

2.9 Dimensions 2.9 Abmessungen2.9 Dimensioni

Dimensioni generali e uscite / General and output dimensions / General-und Abtriebsabmessungen



43

Flange entrata / Input flange / Antriebsflansch

Albero entrata - Input shaft - Antriebswelle

AE

15.87 16 19 22 24 28 32 35 38

F Q V I R 
(H7) O S S1 D L

max H L
max H L

max H L
max H L

max H L
max H L

max H L
max H L

max H

P01* 140 = = 125.72 55.52 6.5 15 4 55.52 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P02* 140 = = 100 80 6.5 15 4 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P03* 140 = = 115 95 8.5 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P04* = 140 160 130 110 8.5 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P05 = 142 190 165 130 11 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P06 = 190 250 215 180 13 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P07 = 250 300 265 230 13 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P08 = 130 165 145 110 M 8 18 7 70 60.8 9.8 60.8 9.8 45.8 9.8 60.8 9.8 60.8 9.8 85.8 10.3 85.8 10.3 85.8 10.3 85.8 10.3

P09 = 180 230 200 114.3 13.5 22 11 70 64.8 13.8 64.8 13.8 49.8 13.8 64.8 13.8 64.8 13.8 89.8 14.3 89.8 14.3 89.8 14.3 89.8 14.3

P10 = 115 150 130 95 M 8 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P11 = 180 230 198 155 13.5 22 7 120x11 64.8 13.8 64.8 13.8 49.8 13.8 64.8 13.8 64.8 13.8 89.8 14.3 89.8 14.3 89.8 14.3 89.8 14.3

P12 = 220 270 235 200 13.5 15 5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P13 = 190 250 215 130 13 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P14 = 142 190 165 110 11 15 4.5 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

P15* 150 = = 90 70 6.5 15 4 70 57.8 6.8 57.8 6.8 42.8 6.8 57.8 6.8 57.8 6.8 82.8 7.3 82.8 7.3 82.8 7.3 82.8 7.3

H

Lmax

A
E

 H
7

D

S

S1

O
O

V

R H7 R H7

Q I

I F

EP155

Flangia entrata
Input flange

Antriebsflansch

* Per assemblare il  motore è necessario
smontare la flangia dal riduttore (vedere
schema di montaggio 2 a pag. 45).

* To mount the motor it is necessary to remove
the gearbox flange (see  assembly drawing 2 
on page 45).

* Vor dem Einbauen des Mo tors soll die
Getriebeflansch abmontiert werden (siehe
Bauanleitung 2 auf Sei te 45).

Dimensioni entrate / Input dimensions / Antriebsabmessungen



444444

DVDV
AEAE

CHCH

LMLM

FVFV

CSCS

1 - Allentare la vite di serraggio 
del morsetto (DV)

2 - Estrarre la linguetta (LM)
dall'albero motore 

3 - Pulire le superfici di contatto
delle flange motore e riduttore

4 - Calettare il motore sul
riduttore evitando urti

5 - Stringere le viti di assemblaggio
(FV) in modo alternato

6 - Serrare lavite (o le viti) del
morsetto (DV) alla coppia
(CS) indicata in tabella

EP 55

AE 6 6.35 7 8 9 9.52 11
DV M4
NV 1
CH 3

CS [Nm] 4.8

EP 75

AE 6 6.35 7 8 9 9.52 11 12 12.7 14
DV M4
NV 1
CH 3

CS [Nm] 4.8

EP 90

AE 9 9.52 11 12 12.7 14 15.87 16 19
DV M4 M5
NV 1 1
CH 3 4

CS [Nm] 4.8 9.4

EP 120

AE 12.7 14 15.87 16 19 22 24 28
DV M4 M5 M6
NV 1 1 2
CH 3 4 5

CS [Nm] 4.8 9.4 16.2

EP 155

AE 15.87 16 19 22 24 28 32 35 38
DV M6 M6 M6
NV 1 2 3
CH 5 5 5

CS [Nm] 16.2 16.2 16.2

1 - Unloose the fastening screw
(or screws) of the clamp (DV)

2 - Remove the key (LM) from
motor shaft

3 - Clean the contact surfaces
of motor flange/gearbox flange

4 - Avoid impacts while fitting
motor to gearbox

5 - Tighten the assembling scews
(FV) alternatively

6 - Tighten the clamp screw,or
screws (DV) according to
the torque (CS) reported in the
table

1 - die Befestigungsscraube der
Klammer (DV) lockern

2 - die Feder (LM) aus Getriebe
und Motorwelle ziehen

3 - die Motorflansch / Getriebeflansch 
Kontaktfläche reinigen

4 - Motor und Getriebe ohne 
Stöße verkeilen

5 - die Befestigungsscrauben (FV)
abwechselnd anziehen

6 - die Schraube (oder Schrauben)
der Klammer (DV) zu dem in der 
Tabelle angegebenen Anzugsmoment
anziehen

AE= Albero entrata / Input shaft / Antriebswelle
DV= Diametro vite / Screw diameter / Schraubendurchmesser

NV= Numero viti / Number of screw / Schraubenanzahl
CS= Coppia di serraggio / Setting torque / Spannungsmoment

2.10 Instructions for 
assembly of motor

2.10 Anleitung für Motormontage2.10 Istruzioni per il montaggio del
motore

1 2 3 4 5

6

 Schema di montaggio / Assembly drawing / Bauanleitung 11

EP



45

CSCS

LMLM

DVDV
AEAE

CHCH
x4

x4

FVFV

1 - Allentare la vite di serraggio 
del morsetto (DV)

2 - Estrarre la linguetta (LM)
dall'albero motore 

3 - Smontare la flangia dal
     riduttore
4 - Pu li re le su per fi ci di con tat-
     to del le flan ge mo to re e ri dut-
     tore
5 - Fis sa re la flan gia sul moto-
     re
6 - Ca let ta re il mo to re sul

ri dut to re evi tan do urti
7 - Strin ge re le viti di as sem blag-
      gio (FV) in modo al ter na to
8 - Ser ra re la vite (o le viti) del

mor set to (DV) alla cop pia
(CS) in di ca ta in tabella

EP 55

AE 6 6.35 7 8 9 9.52 11
DV M4
NV 1
CH 3

CS [Nm] 4.8

EP 75

AE 6 6.35 7 8 9 9.52 11 12 12.7 14
DV M4
NV 1
CH 3

CS [Nm] 4.8

EP 90

AE 9 9.52 11 12 12.7 14 15.87 16 19
DV M4 M5
NV 1 1
CH 3 4

CS [Nm] 4.8 9.4

EP 120

AE 12.7 14 15.87 16 19 22 24 28
DV M4 M5 M6
NV 1 1 2
CH 3 4 5

CS [Nm] 4.8 9.4 16.2

EP 155

AE 15.87 16 19 22 24 28 32 35 38
DV M6 M6 M6
NV 1 2 3
CH 5 5 5

CS [Nm] 16.2 16.2 16.2

1 - Unloose the fastening screw
(or screws) of the clamp (DV)

2 - Remove the key (LM) from
motor shaft

3 - Remove the flange from the
     gearbox
4 - Clean the contact surfaces

of motor flange/gearbox flange
5 - Fix the flange on the motor
6 - Avoid impacts while fitting

motor to gearbox
7 - Tighten the assembling scews

(FV) alternatively
8 - Tighten the clamp screw,or

screws (DV) according to
the torque (CS) reported in the
table

1 - die Befestigungsscraube der
Klammer (DV) lockern

2 - die Feder (LM) aus Getriebe
und Motorwelle ziehen

3 - die Flansch von Getriebe
     abmontieren
4 - die Motorflansch / Getriebe-
     flansch Kontaktfläche reinigen
5 - die Flansch an Motor befestigen
6 - Motor und Getriebe ohne
     Stöße verkeilen
7 - die Befestigungsscrauben (FV)

abwechselnd anziehen
8 - die Schraube (oder Schrau-
     ben) der Klammer (DV) zu
     dem in der Tabelle angege-
     benen Anzugsmoment
     anziehen

AE= Albero entrata / Input shaft / Antriebswelle
DV= Diametro vite / Screw diameter / Schraubendurchmesser

NV= Numero viti / Number of screw / Schraubenanzahl
CS= Coppia di serraggio / Setting torque / Spannungsmoment

2.10 Instructions for 
assembly of motor

2.10 Anleitung für Motormontage2.10 Istruzioni per il montaggio del
motore

1 2 3

4 5

6 7

8

 Schema di montaggio / Assembly drawing / Bauanleitung 22

EP



464646


